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ATOyY Mo7—2+ FART = XY= L Famm B Y4XFZAH5T | BWI | &wi | MIX1 | Bwz | oawz | mixe | e | BF | ER | | nes | VB
Mo 7—2 h 3—0 2—1 6 —3i6 —0i6 —3/6—0i6—0i4—6|2-0 34 |46 [0.74 | 1
FART =AY =L 0—3 3—0 3—6{0—6i3 —6[6—3{6—1i7 — 5|11 25 |52 [0.48 | 2
Famm B 1—2 1—2 3 —6{2 —6i6 —3[{0—6!0 66 — 4| 0-2 17 | 48 [0.35 | 4
TARTZRYFT 0—3 2—1 6 — 36 —2i{3 — 6|3 —6i1 616 — 7| 1-1 25 |55 |0.45 | 3
BJOvY N&H2 THR5Y TeanBB AWl | &w1 | mMix1 | Bwz | kw2 | mixz | gk | BE | R 1750 Pos e
M&H2 1—2 2—1 6 —3!4 —6!1 —6|6 —2!3 —6!6— 3| 1-1 26 | 52 |0.50 [ 2
THR5Y 2—1 0—3 3 —-6{6—4i6 — 1[4 —6{6 —7{1 — 6| 1-1 26 |56 [0.46 | 3
TeanB5 1—2 2—1 2 —6{6 —6i{3 —6[6—4{7—6i6— 1|1 30 |59 [0.51 | 1
c7ayy M&H 1 Famm A 7R Full Power BWI L EWT | MIXT | Bw2 | kw2 | mix2 |k | BE | RE 1750 Fos e
M&H 1 2—1 2—1 1 —616 —2i{7 —5(6 — 34 616 — 0| 2-0 30 |52 |0.58 | 1
Famm A 1—2 2—1 6 —1{2 —6!5 — 7|6 — 56 413 — 6| 1-1 28 | 57 [0.49 | 2
TUR 2—1 1—2 0 — 6i6 —2i6 — 1|3 — 6i6 410 — 6| 1-1 21 | 46 |0.46 | 3
Full Power 1—2 1—2 6 —0{2 —6i{1 — 6|5 — 64 6i6 — 3| 0-2 24 | 51 10.47 | 4
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